A general trapezoid is a quadrilateral with one pair of

General trapezoid opposite sides

Polygons

Trapezoids

Right trapezoid A\

N,
d

A right trapezoid is a trapezoid with one leg

to the parallel sides.

Quadrilaterals

Isosceles trapezoid / F

An isosceles trapezoid is a trapezoid with one pair of

A kite is a quadrilateral with pairs of
consecutive congruent sides.

Parallelograms

A\\ynm_‘m:m_omaa is a quadrilateral with two cm:,modﬂ/v

opposite sides

L
1 \ A rhombus is a parallelogram with
Square

congruent

Rectangle

. . congruent sides.
Arectangle is a parallelogram with g

right angles.

A square is a parallelogram with right

angles and congruent sides.




An isosceles triangle is a

An equilateral triangle is a triangle with tg \<QO:M
triangle with

congruent sides

congruent sides

Isosceles

Equilatera

3m

Scalene

7m Triangle
A scalene triangle is a

triangle with |
congruent sides

Aright triangle is a triangle

with a

An obtuse triangle is a
An acute triangle is a triangle

i triangle with
with__ acute

obtuse angle (s).
angles.




Geometry
Elementary Classification

State the most specific name for each figure.

1)

A) kite

B) quadrilateral
C) parallelogram
D) trapezoid

3)

1 T [

A) trapezoid
C) quadrilateral

B) kite
D) rectangle

5)

A) kite

B) isosceles trapezoid
C) quadrilateral

D) trapezoid

7)

A) kite

B) quadrilateral

C) isosceles trapezoid
D) trapezoid

Name

ID:

1

Date

2)

L N

1, [

A) quadrilateral
C) square

B) trapezoid
D) kite

4)

A) trapezoid
C) kite

B) quadrilateral
D) square

_0)

A) kite

B) quadrilateral

C) isosceles trapezoid
D) trapezoid

8)

A) trapezoid

B) kite

C) isosceles trapezoid
D) quadrilateral

Hour




9)

A) trapezoid
C) quadrilateral

B) kite
D) rhombus

—10)

A) trapezoid

B) parallelogram
C) quadrilateral
D) kite

Classify each triangle by its angles and sides. Equal sides and equal angles, if any, are indicated in each

diagram.

11)

A) equilateral
B) right equilateral
C) acute isosceles
D) acute right

- 13)

.

A) acute obtuse
B) obtuse scalene
C) equilateral
D) right scalene

15)

,

A) right scalene

B) right isosceles

C) equilateral

D) acute isosceles
17)

<

A) obtuse isosceles
B) acute scalene
C) right isosceles
D) obtuse scalene

—

_ 16)

12)

/

A) obtuse scalene
B) right isosceles
C) right obtuse
D) acute scalene
14)

>

A) acute isosceles
B) acute scalene
C) obtuse scalene
D) right scalene

>

A) acute scalene
B) right equilateral
C) obtuse isosceles
D) obtuse scalene

18)

A) equilateral

B) right equilateral
C) obtuse scalene

D) right isosceles




Answers to Elementary Classification (ID: 1)

1) C 2) C 3) D 4 D
5) A 6) D 7) D 8) B
9) D 10) B 11) C 12) B
13) C 14) A 15) A 16) C

17) A 18) C




